R6.1 R6.2 R6.3 R6.4 R6.5 R6.6 R6.7 R6.8 R6.9 R6.10 R6.11 R6.12 b
DN 7 —F ViEE (CAG)
S 45 61 42 53 31 33 53 45 51 52 58 524
BE 99 87 119 107 109 118 105 97 78 102 95 1116
BROBERA > 2 —~>> 3> (PCl)
S 26 39 18 30 23 12 31 29 29 30 32 299
BE 27 18 38 36 29 41 25 34 26 31 41 346
KRIEBEDARAZ A (EVT)
%2 2 2 2 3 1 2 12
BE 8 7 11 6 4 11 8 3 3 7 7 75
R—2Z A —H —1EAH(PMI)
B 0
B 11 9 5 11 12 8 13 7 12 5 13 106
77— 3 vikR(ABL)
B
BE 60 59 66 70 62 56 56 49 44 51 69 642
21D CAG 144 148 161 160 140 151 158 142 129 154 153 1640
2{ko PCl 53 57 56 66 52 53 56 63 55} 61 73 645
kD EVT 10 7 13 6 4 13 8 6 4 9 7 87
2{kn PMI 11 9 5 11 12 8 13 7 12 5 13 106
2{Kk0 ABL 60 59 66 70 62 56 56 49 44 51 69 642
2{ka TAVI 3 10 4 7 6 4 8 7 4 7 3 63
£{kD MitraClip 1 2 1 1 2 1 2 10
CAG (B%h) 91 91 105 94 88 98 102 79 74 93 80 995
D5 7 — T IVIRE(CAG) BRENBERA > % — >3 3 »(PCl)
200 100
180 90
161 160 156 158
160 144 148 5 142 154 153 I )
140 129 70 66 63 o
120 60 53 57 56 5 53 56 55
100 50
80 40
60 30
40 20
61 31
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D H 7 — 7 VIR E EIR(CAG B Jh) FRIEBNARER BIRE(EVT)
20
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79 80 12
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4
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o R: e 8% At o 2 = 8% At
R—2 A —H —1EAI(PMI) 7 7L — 3 v iAEABL)
70 69
70 66
14 13 13 60 59 62
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10 9 50 a4
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6 5 5 30
4 I 20
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0 0
0 0
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BHT — T IVKENIRITEE BT (TAVI) BERIEREARZ Y v 71T (MitraClip)
16 16
14 14
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8 7 6 7 8
6 6
4 4 4
4 3 3 4
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